C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
D Y="/x5 2 | v=5'47 3 v= A/ X2 .
X |Y Xl Y X| Y
-6 | -6 '2 6160880 -4 | 4.000 )
-7 -7 : -7 | 7.000
313 4] 632 -8 | 8.000
5| 3,132 3.
5|5 7 | 7.000
717 7] 78132 9 | 9.000 .
5.
4) | y=-x2 5 [Y=-X-6 6) =
X|Y X|Y XX 6
3] -9 ‘1| -5 X | Y
-6|-36 5| -1 10 | 8.366 7
-8|-64 8| 2 1 | 2.645
-9|-81 4 |-10 3 | 4.582 8
8 |-64 8 |-14 5 | 5.916
8 | 7.483 9
10.
D ly=vx_+6 ¥ ly=vax ? v=A/x27 11.
Xl Y Kl X | Y
0| 6 2 | 2.000 10| 9.644 .
2 | 7.414 6 | 3.464 8 | 75%0
3| 1732 73741 10 | 9.644
8 | 8828 8 | 4000 5 | 4.243
9] 9 9 | 4242 9 | 8.602
10) |y=-X 11) X 12) [y=-x+3
Y="4
X |Y X |Y
1)1 |l 2|5
>l -2|-0.222 21
2l -3(-0.333 310
=17 6 | 0.667 513
olo 710.778 5=
8 | 0.889

1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Identify Linear Functions (Table) Name: Answer Key

Determineif thetable shown representsa linear function (yes) or not (no). Answers
1) v="/ex5 2 |_y=547 J Y=V X2 Yes
x| v "
—r— X| v
=6 -5| 7.000 -4 | 4.000 2 no
o= -6 | 640.000 717000
S T3 451 36352 -8 | 8.000 3 no
¢ , 7 | 7.000
> L 7| 78132 9 | 9.000 4 no
5, YEs
) [yon? 5 [Y=-X-6 ®) =
X] Y Ll —— ) -
s 1] 5 X | Y
T3 1 10 | 8.366 ’ no
et Bl 2 1 |2645
9|81 41-10 3 | 4582 8. no
) 8 |-14 5 | 5.916
8 | 7.483 J no
10. yes
) |y=A/X +6 8) |y=n/2xX ) Y= N X?%7 11. yes
X| Y X| Y X | Y
ol 6 2 | 2.000 -10 | 9.644 12 yes
2 | 7414 6 | 3.464 -8 | 7.550
3| 7732 7| 374 10 | 9.644
8 | 8.828 8 | 4.000 5 | 4.243
9| 9 9 | 4.242 9 | 8.602
10) [Vox 11) X 12) |y=-X+3
Y="74
—— X |Y
A X| Y 2|5
> -2|-0.222 27
e -3/-0.333 31 0
- 6 | 0.667 6 1 3
=15 710778 3| 5
8| 0.889

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 7 11-12| 8 | O




